Trid — 35 points Comet — 50 points

Answer Key — 625431, 462351 Answer Key — A4,B6,C1,D3,E5,F7,G2,24
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Ikebana — 40 points
Answer Key — CFADEB,FBCADE
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Missing Words PARAVAN TRID
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As Easy As ABCD — 15 points Tiger In The Woods — 30 points

Answer Key — DXAACE, ADDBAB Answer Key — EH, Al, 15
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Ripple Effect — 80 points Classic Sudoku — 20 points
Answer Key — 153141321, 5361 24351‘ Answer Key — 7351 8‘9246, 497683521
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Answer Key — 8,4
Vista — 30 points

Answer Key — 26, 24

LMI Cut — 30 points
Answer Key — 10,4,3

Spiral Galaxy — 30 points
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Hitori — 30 points

Answer Key — 13,8,5,1,1

1
1

5/2|16/9(4]|7|3|8

Kropki Sudoku — 50 points
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Answer Key — 815946273, 273518649
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Answer Key — 32



